é Z/
Ymeepaicoaio: dupexkmop
MBOY Ycmb-Kanmarckoii COILT

TbinsHosa T.H.

I'papuk nuranmss 00yyaroIHXCs B CTOIOBOIA.

1 nepemena (9.40-10.00): 4B, 5A, 5B, 5B, 6A, 6B K1acchl.
2 nepemeHa (10.40-11.00): 6T, 6B, 7A, 7B, 7B, 8A KJacChbl.
3 nepemena (11.40-12.00): 85,8B,9A,95,10A,105,11A,115 k1acceL.

Haua/ibHas 111Koa

1 mepemena (9.35-9.45):1A,16 ,1B, 2A (9.40-10.00)K/1aCCBbL.
2 nepemena (10.40-11.00): 2B, 2B, 2I,3A K/acchl.

3 nepemena (11.40-12.00): 35,3B,4A,4B k/acchl.

T,
4 nepemena (12.40-12.50): 1A,15,1B.

ITonpnuk (15.00) 1A,15,1B.



